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Candidates must write the Code on the
title page of the answer-book.
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o T-TA U Ifer BT <l 3T e T Shre e i BT I -YfEieh! & JE-I8 W ford |

o T SAIG BT foh U THA-TAH 26 A E |
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R o 3T -YFETehT T g IR &1 o1 |

o Please check that this question paper contains 10 printed pages + 1 Map.

° Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

] Please check that this question paper contains 26 questions.
o Please write down the Serial Number of the question before attempting it.

° 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
SOCIAL SCIENCE
feia g7 » 3 o2 3BT 37 80
Time allowed : 3 hours Maximum Marks : 80
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AT 7697 :

(i) 3T F07-97 4 o726 F97 8 | G 397 I E

(ii) HeIH 97 & 3 3q% G U T E |

(iii) ¥ &I 87 T 3717 TG-IT0T F97 & | Joeh Fo7 1 36 FT & |

(iv) 397 G&I78 @ 18 7% J&% 97 3 37 F1 8 | 377 @ Jcdeh 97 &7 I 80 V=gl @
3718 7 T8 EHT TIET 1

(v) ¥ GEIT19 T 25 T T4 F97 5 37% BT 8 | 377 @ Ie4% J97 H7 I 100 Vil @
ST1er 1 7&] &1 eV |

(vi) I97 GEIT 26 FHIET & GEleT 8 | 399 & 9T 8 26(A4) 3K 26(B) | 26(A) 2 37 HT
SITETT @ T 26(B) 3 37 &7 N7 & & | T &7 J97 YU &4 T 38 3791 Ik -
gicreT & are Teel &1

(vii) O Fe7-T7 G fabeq 787 & | o ot &3 39 B 37raRes ke & 107 a3t v 7 & 5%
& 37T9%] T & [y ge1 HATE |

General Instructions :

(i)  The question paper has 26 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 7 are Very Short Answer type Questions. Each
question carries one mark.

(iv) Questions from serial number 8 to 18 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 19 to 25 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi) Question number 26 is a map question. It has two parts 26(A) and 26(B). 26(A) of
2 marks from History and 26(B) of 3 marks from Geography. After completion
attach the map inside your answer book.

(vii) There is no overall choice. However, internal choice has been provided in some

questions. You have to attempt only one of the alternatives in all such-questions.
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AT o Afaftea foerm o forgl S igat o1 Seor@ hifT | vi+l=1

State any two goals of development other than income.

T 1S THEn TE R, sfews 3=l 1 e ] | Sy o faveryor Hifv | 1
‘A challenge is not just any problem but an opportunity for progress.” Analyse the
statement.

TG (FK0T) h T & o hlg Gl IGTE MY | Vit V=1

Give any two examples of informal sector of credit.

SIS BH STh(eh THTEA] T STANT ohich LI I IcATGH Hd @, A1 58 FhR hi Trafe
fopg aTTfien &rmreh o 3faTia STt § 7 1

When we produce goods by exploiting natural resources, in which category of economic
sector such activities come ?

U hferes =<’ = TehTerehi 3T J&deh fIsharatl W qraifeat i ormg ? 1
HAYET
IUATH AT T IUFT 41 hid 3 ?

Why did the Roman Catholic Church impose control over publishers and booksellers ?
OR

Why do novels use vernacular ?

I o TR 9T GETEAT ShT SR shIT | 1

Classify resources on the basis of origin.

3 [P.T.O.
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1885 H T o TAThdeR G311 <hl Sfei H oo 1 g3 7 1
3Ter
Tl 31 STeTEd vfecat H U WEi h TEER iaT hI ST &G il H T I 7

AT

1887 W foTaqet & T Sedid Wifetsh dTed g9 4 3% Ug (T BR) H &ed & TeqpIrd]
HSIGU 1 TEAT AT Fa&or il foa ?
Why were big European powers met in Berlin in 1885 ?

OR

Why were merchants from towns in Europe began to move countryside in seventeenth

and eighteenth centuries ?
OR

Why did Charles Booth, a Liverpool ship owner conduct the first social survey of low
skilled workers in the East End of London in 1887 ?

AR TR hl STEeh SFIEAT i s YTl 3R wfdaermett s=H o T 1992 4 ‘vt
gfau™’ § foru v geniys < foaeal o9 Trera il w1 9ol hifsT | 3x1=3

Describe any three provisions of amendment made in ‘Indian Constitution’ in 1992 for

making ‘Three-Tier’ government more effective and powerful.

RO 31 TeT T o foTU, fohel TehR HEwaqul 2 7 3STevll Hfed AT HIT | 3x1=3

How is the issue of sustainability important for development ? Explain with examples.
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“TretUee’ &1 1890 o <31k H AT o AN hl TSIt 3T T 3reieyawen W ug

AT T FUH HIT | 3x1=3
YA

194t wraTed} # WR T SR bt feheal i S Tmenat w1 v i |
CLE

195t STATEY < G TiE ol HTH -G A o foT IST MU = < heHi <l JuH HITTT |

Describe the impact of ‘Rinderpest’ on people’s livelihoods and local economy in
Africa in the 1890s.

OR

Describe any three major problems faced by Indian cotton weavers in nineteenth

century.
OR

Describe any three steps taken to clean up London during nineteenth century.

T TR STETISA & 31 Tall 2al § 3t T HIT | 3x1=3

Distinguish the service conditions of organized sector with that of unorganized sector.

“ “GguT BRI’ FIAT 3R JH § ITeh Hai bl FTGeTohl ARTI ol (=M 96 & |7 e &l
fergetor HifT | 3x1=3

YT

S 3ATfEe 3R WTReTe sitve gry skt forfiaa uss uoe Ssgfed’ aum |9 SR’ 3u=mai 6t
for-ag o TR T IR |

“The ‘Print Revolution’ had transformed the lives of people changing their relationship

to information and knowledge.” Analyse the statement.
OR

Distinguish between the themes of ‘Pride and Prejudice’ and ‘Jane Eyre’ novels written
by Jane Austen and Charlotte Bronte respectively.

5 [P.T.O.
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13. WA § 3T 6! el §3 T o HRUT ATV ol THILA] T ¢o1d fohdl TR 9 W & 7
T HITT | 3x1=3

How has the ever increasing number of industries in India made worse position by

exerting pressure on existing fresh water resources ? Explain.

14, “Heq 3R Aam iEed &1 T QR 3R T T 3g q@-3nfia ] 17 %eH
Tergeryor HifS | 3x1=3

“Dense and efficient network of transport is a pre-requisite for local and national

development.” Analyse the statement.

15.  wiisTes forvrer b Toiifa o aiom st faiita s 9t 9 it i =amen hifs |

3x1=3

Explain the three factors that are crucial in deciding the outcome of politics of social

divisions.

16. < o forshr o fotu Twam 3t @med & 31qs%eT ool 3MTavs w1 7 ? fheal fiF ot 6

T I | 3x1=3

Why is cheap and affordable credit important for the country’s development ? Explain

any three reasons.

17. ST H 30901 § S o foT Susiernsti § SIieehd 8 Hhefts ST Gehdl 2 ? Toheal i alieni
1 W HIFT | 3x1=3

How can consumer awareness be spread among consumers to avoid exploitation in the

market place ? Explain any three ways.

32/3 6



18.

19.

20.

21,

32/3

IV' CAREERINDIA

“of - fregar o Safat an Wi i wen foameamn 7€ 7, W I8 guR <9 6 fidi § | T
2 " %Y il 1@ i | 3x1=3

“Secularism is not an ideology of some political parties or persons, but it is one of the

foundations of our country.” Examine the statement.

foeeht = fore wehw fafir=r a3 SToTRT T TEhishtor X 18T B 7 SeTewi |fed s

T | 5x1=5
et

B 370 2freh Sfia # Svefiehtor o THTE! 1 fohH TehR WA Hd & 7 Il Eigd saE

HIfT |

How has foreign trade been integrating markets of different countries ? Explain with

examples.
OR

How do we feel the impact of globalization on our daily life ? Explain with examples.

“1980 & 1990 % T H WA HLHR A Y IR b T 3Teh HEATTA T Trefirehla guri

ST YT I |7 39 HAH I IgTeL0T Afed gfse it | 5x1=5
YT

WA § Jafetd e Sfifaest i’ 3R ‘arforfsess Siv’ i gemn Hife |

“The Government of India has introduced various institutional and technological

reforms to improve agriculture in the 1980s and 1990s.” Support this statement with
examples.
OR

Compare ‘intensive subsistence farming” with that of ‘commercial farming” practiced in

India.

TIhaa § TSHITeh Gell o fohral drd S 11 b1 FUI HIfT | 5x1=5
Describe any five major functions of political parties performed in a democracy.

7 [P.T.O.
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“sqferd <hT AT 3T TTTAT o HIHA H SATehdiiieh o€ feret off 31 wmee Joref! & <1l
HAM 2 |” 39 HYA bl =FET 38Usy | 5x1=5

Jran
“SAThdIreh T STRATE IMf 3R TUTE T Sia SiH | ATieht = fofe g arfea
BT 2 |7 39 S ol =ATIETd 38T |

“Democracy stands much superior to any other form of government in promoting
dignity and freedom of the individual.” Justify this statement.
OR

“Democracies lead to peaceful and harmonious life among citizens.” Justify this
statement.

‘TGN TG’ fohd TR wTad Hex ot <hl Tewtigrl <6 |ner et ® I g ? Sk Wi
X $Heh THTAT oh! SATEAT HINIT | 2+3=5

YT

I, TS § wigenati i foret +ff Tawrqul ug W STe ¢ ¥ i feaforand) W@ 7 wfgemat
< e A HAGIeH H ThH TR WIT forem 7 T hifT |

How did Non-Cooperation movement start with participation of middle class people in
the cities ? Explain its impact on the economic front.

OR

Why was Congress reluctant to allow women to hold any position of authority within
the organisation ? How did women participate in Civil Disobedience Movement ?
Explain.

Toret 2o <Y amTfRies It fafamior e < feorerra @ == wefl STt 2 2 Serewon wfgd sumen
HIT | 5x1=5

Why is the economic strength of a country measured by the development of
manufacturing industries ? Explain with examples.

AT H 1871 o S1E STeh & | st fremiess aftfeufaat o1 avfa Hifvw | 5x1=5
YT

Torram 7 SufasTaTe % faeg wasT < fam & faft= enfifes gl 6t yftresr &1 aui

IS |

Describe the explosive conditions prevailed in Balkans after 1871 in Europe.

OR

Describe the role of different religious groups in the development of anti-colonial
feelings in Vietnam.
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B A a 3R b feu T YR o TSI W@T-uEieE § 3ifed fRu T E | 3 weqon
=1 Ffefaa SHerl 6 g8mar ¥ 98T 3 396 Tl A1 39 e gl T
et w fefge 2x1=2

(a) % T STET IR TS g o1 JARIeeH ga |
(b) o8 T & st + geft firer Aigl <k we o Heamrg R |

3ot feu U vRa o TS TEr-uHtes # frefefad 1 Sue fagdt @ geise 31
3o A1 fafau - 3x1=3
() T ErH — TR g -

(i) ETeIl — STeT Te $eTd Hi

(iii) ufvaHt STTeT 1 ATgea=R CoTarsi ITeh

Two features a and b are marked on the given political outline map of India.

Identify these features with the help of the following information and write their

correct names on the lines marked near them :
(a) The place where the Indian National Congress Session was held.

(b) The place where Gandhiji organized ‘Satyagraha’ in favour of cotton mill

workers.

Locate and label the following with appropriate symbols on the same given

outline political map of India.
(1) Raja Sansi — International Airport
(ii)) Bhadravati — Iron and Steel Plant

(ii1)) Software Technology Park of West Bengal

9 [P.T.O.
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e : TfRaa Te hae gieeaTie TOETR o fTe T G@1 26 S M WE: 5x1=5

(i)
(i)
(iif)
(iv)
v)

39 U9 1 T fafan st e 1 @t o aret forami = gemrg fera o |
39 U= 1 AT fafan et miefst 3 e g aret o |

39 T 1 T4 Tl wret e Gt TS g gams—o fRa ® |

38 U9 1 T fAafau &t geim el vd e T e © |

38 T o1 A feaRau et R strorfers St g fea 2 |

Note: The following questions are for the Visually Impaired candidates only in lieu
of Q. No. 26 :

(i)
(ii)
(iii)
(iv)
)

Name the state where the Indigo planters organized Satyagraha.
Name the state where Gandhiji violated the Salt Law.

Name the state where Raja Sansi International Airport is located.
Name the state where Salem Iron and Steel Plant is located.

Name the state where Narora Nuclear Power Plant is located.

10
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T ¥, 26 % folT AT
Map for Q. No. 26

WG o1 WT-AFrA (TSTiTeh)
Outline Map of India (Political)
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